1.2
Opening 1NT with two doubletons?

Now we have seen that we allow both 5 card minors or 5 card majors in our opening 1NT, provided the hand is balanced. But what about semi-balanced hands, e.g. hands with 2 doubletons (so a 5 and 4 card suit within your opening NT range). The general rule is that if the 5 card suit is higher ranking than the 4 card suit, then open the 5-carder and rebid the 4-carder. If the 4-carder is higher ranking and the hand is not good enough for a reverse, then open 1NT.

Hand 6
Hand 7
Hand 8
Hand 9
Hand 10


( K9
( KJ104
( K9
( K9
( A9


( KJ104
( AK642
( Q7
( Q7
( Q7


( AQ642
( Q9
( KJ104
( AQ642
( AK1064


( K7
( Q7
( AQ642
( KJ104
( J1094


Hand 6:
Open 1NT. The hand is not good enough for a reverse and you will be fixed for a rebid if you open 1(.

Hand 7:
The long suits are in the same order, but you should not open 1NT with 9 cards in the majors. Thus 1(. If partner responds 2(/( you can then bid 2(, but only if you have agreed that a reverse after a two level response does not show extra values. With no such agreement the hand is difficult and 2( is probably the best bid. If partner responds with a forcing NT then this hand shape is difficult and 2( is probably best.

Hand 8:
Open 1NT, with these tenaces it’s a much better bid than 1(. The hand is not really strong enough for a reverse into 2( if you open 1(.

Hand 9:
Now this hand has the suits in the ‘easy’ order and you can open 1( followed by 2(. However, I still prefer 1NT with these tenaces.

Hand 10:
14 points, but look at that ( suit. And the ( suit ain’t bad for just one point. With the (Qx which may need protecting NT is very likely to be the best contract and is best played by this hand. The hand easily has the values for a strong NT opener. 

Incidentally, Hand 10 is from a club tournament and after it had occurred I did a poll at the club and found that about 75% would open the hand with 1( regardless of the NT range – interesting; but I still maintain that it is a strong NT opener.

Hand A
How about this hand? It comes from the Marty Bergen book ‘Marty Sez…  
vol 2’. An opening of 1NT is recommended as the author maintains that you 

( J4
have a rebid problem after 1( from partner if you opened 1(.

( AK102
Sure, a 1NT rebid would be an underbid, but I see nothing wrong with

( J6
rebidding this ( suit. A 1NT opening is, in my opinion, a distortion of this

( AQ1073
hand with two worthless doubletons and should be avoided if you have a 
reasonable rebid (as here). When you open 1NT you always run the risk of missing a 4-4 major suit fit; this is not so important if your hand is balanced but would be a disaster on this hand if partner had 4 (’s and was unable to bid over a 1NT opening. Be wary of opening 1NT on hands with a 5 card minor and a 4 card major, only consider it with decent doubletons (preferably tenaces).

Hand B
Let’s change Hand A slightly, what do we open with this Hand B? Again   
we have to think about the rebid. If you open 1( then what is the rebid 

( K4  
over partner’s 1(? A 2( rebid is perhaps acceptable, but if you open 1NT

( AK102
you get the strength of the hand off your chest immediately. Two doubletons 

( 76   
is not ideal for a 1NT opening but you certainly have no further problems.

( AJ1073    
This is a borderline case. My personal preference would be to open 1( 
because of the pathetic (’s and the risk of playing in 1NT with a 4-4 ( fit. But 
you can only do this if your partnership style allows you to occasionally rebid a 


decent 5 card ( suit (I have no problem with that).

Hand C 
Hand D


Swap the red suits of Hand B to get Hand C then 1NT is a far

( K4  
( AK102  
better opening than 1( (or 1(!).
( 76   
( K4
But if you swap the major suits of Hand B to get Hand D you 

( AK104  
( 76   
should open 1( as you always have an easy 1( rebid.

( AJ1073       
( AJ1073     

 


West 
East
West
East
But make Hand D top-of-the-range such as 





our West hand here and there may be trouble.
( AK102
( QJ93
1(
1(
The problem is that West’s 1( rebid shows 

( A10

( KJ83
1(
4(
anything from 12 to 17 points and game (or

( 76
( KQ43
pass
slam in this case) may be missed. So with 

( AJ1073
( K

4225 shape there is a case for 1NT when max.

Let’s have a summary of what you should open with 5422 type shape within your 1NT opening range. For argument’s sake, let’s assume that the doubletons are Kx and that the hand is a reasonable 15 count and not good enough for a reverse or jump rebid: -

5422
1(. You have an easy 2( rebid. Do not open 1NT with 9 cards in the majors.

5242 **
1(. Over 2( you will have to bid 2( unless 3( does not show extras in your style.

5224 **
1(. Over 2(/( you will have to bid 2( unless 3( does not show extras in your style.

4522
1(. Your rebid may be tricky, but do not open 1NT with 9 cards in the majors.

4252 *
1NT or 1(. You may have a problem if you open 1( and get a 2( response.

4225
1(. You have a comfortable 1( rebid (unless maximum).

2542
1(. You have a comfortable 2( rebid.

2524 **
1(. Over 2( you will have to bid 2( unless 3( does not show extras in your style.

2452 *
1NT. If you open 1( you have no good rebid over 1(/2(.

2425 *
1NT. If you open 1( you have no good rebid over 1(.

2254
1NT. 

2245
1NT.

* note.
See previous page. Only open 1NT with good doubletons as you may miss a 4-4 major suit fit. If you do open the minor then you may have to rebid it.

** note.
1NT is a very reasonable option if the doubletons are tenaces.
You do not have to remember all of this and it is a general guideline. You simply have to think ‘do I have a good rebid’ ? if you open 1 of a suit. 

Some of the above may change depending upon the high card holdings and suit quality.

Now not everybody will be happy with all of my suggestions; I’m used to that, no problem. Perhaps it’s the 2254 shape? Lets have an example from the club: -

Hand E
I held this hand in a club competition, what would you open ?

( 85
I opened 1NT. That lovely ( suit is worth way more than 5 points and the

( K6
( suit more than 6. With two tenaces that may need protecting I chose a

( KQ1098
strong 1NT. Let’s look at the complete deal :-

( AQ98


Dealer:
  ( QJ10732
Table A
South
  ( 75
West

North      

East 


South (me)

Both vul
  ( A4
-

-


-



1NT



  ( K105
pass

2(
(1)
pass


2(

pass


4(

pass



pass

( 96
 N
( AK4
pass

( J109832
   W    E
( AQ4




( 632
 S
( J75
Table B
( 64
( J732
West
North      
East


South 


  ( 85

-

-

-


1(


  ( K6
pass

1(

pass


1NT 
(2)



  ( KQ1098
pass

2(

pass

pass


  ( AQ98


pass

2( at (1) was a Jacoby Transfer, if you play Texas Transfers then 4( (instructing partner to bid 4() is the bid. An easy 4( was missed at all the other tables, Table B was typical. The problem is that South does not have a decent rebid at (2). 2( is possible but 2( would again be the final contract. 

I don’t know how to continue at (2) after opening 1( with this hand when playing a strong NT. If you open 1( then what is your rebid over 1(/(? 2( is a bit feeble and a game forcing 3( is certainly too much. A 1NT rebid is 12-14 (this hand is too good) and 2NT is 18-19. That is why it’s usually best to open 1NT when your hand is within your NT range and (semi) balanced.

Playing a weak NT then this Hand E is also a bit of a problem (maybe more so). It is too strong for a weak 1NT and so you open 1(. If partner responds 1( then you obviously rebid 1NT (15-16), but if partner responds 1( then 1NT is not so nice with these (’s (*).

Hand F
Hand G
If you play a weak NT and we change the hand to be in the





12-14 point range then I would open 1NT with Hand F but
( Q5
( 85
1( with Hand G. But we do not have the same problem as (*)  

( K6
( K6
(Hand E when playing a strong NT) as a 2( rebid here is 

( KJ987
( KJ987
fine. Basically, a 2( rebid with 12-14 is OK but with 15-17 it’s 

( A985
( AQ98
not so nice.
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